


2
Simplify 10+3x - x2 )d:_‘f)-?_ Slmpllfy P 2 ‘#_.71.

=X R4/ 6“"*)(”% M(‘.Hﬁ

- (7&'—3&—!0 = (x93 (st )(};‘3))

o SM *) % ’




Simplifying Rational
Expressions

Identify each of the following as true or false.
Click on the box to reveal the solution.
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Solution

Chapter

The area of a rectangular garden can be ref
polynomial X* + 3x + 2 and its width by x + 1
&=y Write a rational expression that represent
by rite the expression in simplest form.
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c) If x represents 1 unit of length, what is the\s
for this garden?
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Practice Problems...

Pages 317 - 321
#4,6, 8,13, 15,17, 19, 21, 22, 24, 25, 26

Bonus: # 27
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